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CLASS  – VI    SUBJECT – ENGLISH  

1. Write an article of about 150 words on the concern of Global Warming. 

2. Fill in the blanks with the words given below : 
  

pounced , injured , broke into , howling , swore 

 
 

Last night the Pradhan family was fast asleep when a thief (a) ___________ their house. Luckily their 

servant woke up, saw the thief and (b) __________ at him to catch him. But the thief moved faster than 

him. He (c) _________ at the servant angrily and (d) __________ him badly with a knife. The servant 

started (e) ________ in pain but managed to wake up his master.   
 

3. Write a review of a film you have watched recently.  

4. Identify the kinds of sentences and write down.  

 (a) Alas! I failed the test. ____________ 

 (b) Clean this room, now. ___________ 

 (c) Why are you angry with me? ____________ 

 (d) How sad this poem is! _______________ 

5. Make abstract nouns from the given words. 

(a) agree  (b) choose  (c) young  (d) hero  (e) waste  

6. Write a short biographical sketch of your class teacher. 

7. Fill in an appropriate simile in the blanks. 

(a) These grapes are as ___________ as honey. 

(b) This strain hat is as __________ as a feather. 

(c) Kitty is as __________ as a peacock. 

(d) Safa is always as _________ as a bee. 

8. Who am I ? 

 (a) I study historical facts. _____________ 

 (b) I tell your fortune. _______________ 

(c) I can not pay my debts. ___________ 

(d) I check accounts. ________________ 

9. Complete the table of verb forms. 
 

 Verb
1
 Verb

2
 Verb

3
 

(a) blow   

(b) say    

(c) forget    

(d) take    

(e) get   

(f) fall   

(g) ride    

(h) postpone    

(i) abolish   

(j) persuade    

10. Write the question tag. 

 (a) She can ride a bicycle, _________________ ?  

 (b) They invited you, _________________ ? 

 (c) You were crying, _________________ ? 

 (d) He hasn‟t bought a new book, _________________ ? 

 (e) Anjali works hard, _________________ ? 

Note : All questions should be done in an A-4 size paper and bring it in a stick file. 

 



  

CLASS  – VI     fo‛k; & fgUnh 

ifj;kstuk dk;Z 
 

1- o.kZ ds Hksn o izHksn dks ,d pkVZ isij ij o`{k cukdj n’kkZ,¡A (lqanj o jaxhu v{kjksa ls) 

2- ,d pkVZ isij ij lkSjeaaMy dks lfp= lqanj o vkd‛kZd :i ls n’kkZ,¡A 

3- fdUgha pkj Lora=rk lsukfu;ksa ds fp= fpidkdj muds n~okjk fn, x, ukjks dks fy[kdj lqanj o 

vkd‛kZd :i esa ,d pkVZ isij ij n’kkZ,¡A 

4- Hkkjr ds fdUgha nl jkT;ksa ds uke vkSj ogk¡ cksyh tkusokyh Hkk‛kkvksa ds uke ,d pkVZ isij ij 

fy[ksaA 

fgUnh O;kdj.k 

 

5- fuEufyf[kr ‘kCnksa ds L=hfyax :i fy[ksa & 

Jheku] ljnkj] cSy] :nz] o`n~/k] HkkX;oku] oDrk] fon~oku] lezkV] LokehA 

6- vius O;kdj.k iqLrd ls 10 eqgkojs o mlds vFkZ fy[ksaA 

7- xehZ dh NqV~Vh ij vki dgk¡ tkuk pkgrs gSa] vkSj D;ksa\ ;g crkrs gq, vius firk ds ikl ,d i= 

fy[ksaA 

8- ^isM+ ikS/kksa ls ykHk* ij ,d vuqPNsn nl ls ckjg okD;ksa esa fy[ksaA 

 

fgUnh ikB~; iqLrd 

 

9- ikB&1 izkFkZuk dfork dks lkQ o lqanj v{kjksa eas fy[ksa o ;kn djsaA 

 

   

10- ikB&1] 2] 3 ds ‘kCnkFkZ] iz’u&mÙkj vkSj fgUnh iqLrd esa fn, x, lHkh vH;kl dk;Z ;kn djsaA 

    

CLASS  – VI           fo"k; %& laLd`r  

1- 40 /kkrq vFkZa p ,dk lwfp jp;rA 

2- Hkze /kkrq yV~] y`V ,oa y³~ ydkjs fy[krA 

3- vLen~ ,oa ;wLen ‘kCn :ia fy[krA 

4- rn~ iqfYayx ,oa rn~ L=hfyax ‘kCn :ia fy[krA 

5- n’k lwDr;% laxzga dq:A 

6- dkjd ukekfu fpg~ukfu fy[krA 

7- lkSje.MyL; uoxzgk% ukekfu fy[krA 

8- ‚kM~ _ro% ukekfu fy[krA 

9- ,d% o`{kL; egRos i´p okD; laLd`rs fy[krA 

10- vrqyk laLd`rL; ikBkr~ foa’kfr% ‘kCnFkkZ% fy[krA 

 

_____________________________________________________________________________________________  

CLASS – VI    SUBJECT -  MATHEMATICS 
 

1. Fill in the blanks : 

 (a) 1 million  =  __________ lakhs. 

(b) 1 crore  =  __________ million. 

(c) 1 arab  =  ___________ billion. 

(d) 1 billion  =  _________ crore. 

(e) The smallest 6-digit number ending with 5 is ___________. 



(f) The greatest 5-digit number ending with 0 is ____________. 

(g) The successor of the largest 2-digit number is ___________. 

(h) The predecessor of 1,000 is ___________. 

2. Find the following sums using the number line. 

(a) 4 + 2 + 2  (b) 3 + 6 + 2  (c) 5 + 2 + 1 + 2 

3. Fill in the blanks : 

 

 (i)           3     1     7     5    (ii)   5              5           0 

   1            5     6     3        –  5     6       7     8    9 

     + 2      8     3           9 

                0     1              1 

   7     0            0     

4. Write all 3-digit number taking each digit only once. 

 (i) 2,0,5  (ii) 2, 7, 8   (iii) 1, 4, 3  (iv) 1, 3, 5 

5. Insert comma suitably and write the number names according to Indian system of numeration.  

 (i) 79900406 (ii) 2357065007  (iii) 340674  

6. Insert commas suitably and write the number names according to international system of numeration. 

 (i) 11245010895 (ii) 24563986200  (iii) 36791097 

7. Find the difference between the place values of the two eights in each of the following numerals.  

(i) 80543872 (ii) 358423208   (iii) 24856832  (iv) 8090809 

8. Word Problem : 

(i) A merchant had R78,592 with her. She placed an order for purchasing 40 radio sets at R 1,200 each. 

How much money will remain with her after the purchase? 

(ii) In a factory 30,000 workers are working. Out of these, 5,807 workers attend their duty by car, 10,415 

by bus, 9,531 by cycle and the rest on foot. How many workers attend their duty on foot? 

(iii) The population of a town is 4,50,772 m a survey, it was reported that one out of every 14 persons are 

illiterate. In all how many illiterate persons are there in the town?  

9. In the following questions, a statement of assertion (A) is followed by a statement of Reason (R). Answer 

the question by selecting appropriate option.  

 (a) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (b) Both (A) and (R) are true but (R) is not the correct explanation of (A). 

 (c) (A) is true but (R) is false. 

(d) (A) is false but (R) is true.  

(i) Assertion (A) : 59785 is the greatest number among 382; 18; 59785; 750. 

 Reason (R) : Number with more digits is greater than the number with less digits.  

(ii) Assertion (A) : 45 is the predecessor of 46. 

  Reason (R) : Every whole number has a predecessor.  
 

10. Case study based questions : 

 (i) Mr. Harshit own three flats which he plans to give to his three children.  
   

Flat A B C 

Cost of flat R 45,92,000 R 60,08,000 R 52,00,600 

Given to Prachi Rohit Manav 
   

  Based on the above information answer the following questions. 

  (a) Write the cost of flat given to Rohit in words according to Indian as well as International systems. 

  (b) What is the worth of the total property of Mr. Harshit?  

  (c) Whose flat has the minimum value?  

  

  

 
 

 

 

 

  

  

  



_____________________________________________________________________________________________ 

CLASS – VI     SUBJECT -  SCIENCE  
 
 

A. Fill in the blanks. 

1. __________ is caused by deficiency of vitamin-D. 

2. Deficiency of __________ causes a disease known as beri-beri.  

3. Egg yolk is rich in __________ and egg albumin is rich in __________. 

4. Deficiency diseases can be prevented by taking a _____________. 

5. Night blindness is caused due to deficiency of ___________ in our food. 
 

B. Question Answer. 

6. Define nutrients. 

7. What is roughage and how is it useful for our body? 

8. Is a balance diet an expensive diet? 

9. Differentiate between malnutrition and under nutrition.  

10. Give two methods of cooking that destroy nutrients in the food. 

11. What causes obesity?  

12. Name the major nutrients in our food. 

13. Mention two components of food that do not provide nutrients.  
 

C. Activity : 

1. Take a cardboard and paste some food materials such as Pea, Soyabean, Slice of Apple, Orange and 

Ground nuts and make columns and write which Vitamins are present in these. 

2. Draw on a chart paper “Essential components of food”. 

 
______________________________________________________________________________________________ 

CLASS – VI     SUBJECT -  S.ST  
 

1. On a physical map of India identify and mark the river Indus, Tapi and Krishna. 

2. „Historians and Archaeologists are like detectives‟. Explain.  

3. Ask the students to prepare a speech for the classroom activity explaining what they have learned about 

the chapter from their drawings or pictures. 

4. Discuss the different classical dance forms in India. 

5. How is unity in diversity reflected in India‟s traditions? 

6. Name the different religions found in India. 

7. Draw a diagram of our Solar system. 

8. How solar energy can be utilized for domestic and commercial purposes in daily life. 

9. Distinguish between a star and a planet. 

10. Draw the tools used by the early man.  

     


